P — TP RYNN K12 ?'07R

TPA RILAY MHYN RIVA (RPDY RN
MONY Y% RN MYY 15 RM2IT RNN 1117 Y

.MYNT RTIDA 0V M RPODYY RN :R27 IR
.MYT RTDH ,RIVY TM IPOY 1IN

TIMmon Pnnn Yya N 7090 MYY D12D

:MYNT RTD VY M RPDY RTN R1T IR

2.5 2.5 -5 50
10 5 15 50
7.5 2.5 P

MHYNT R0

:RIVY TNA RPOY RTN VAR

6.66 3.33 15 -5 100

:MHYT RTDA RIVY TM 'POY "IN
6.66 3.33 15 -5 100
M7 RO
20V N2 PO N Har
-2.5 2.5 -5 50
10 5 15 50
7.5 2.5 %90 90

539 71 9311 951
9P 70 3105) Hppy 7037
YIDE /3 31D33 )PPY *ID3
(7£9) :9pE 9370 Hon

17N 0" - 1980 RTan
°© 113w

RI11p0O -2



